What is the area of a regular octagon inscribed in a circle of radius 14?��(A)  � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


What is the circumference of a circle with area 180p?��(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


What is the volume of a rectangular box with faces whose areas are 444, 132, and 407?��(A)  1776	(B)  1888	(C)  1966	(D)  2042	(E)  NOTA


�������������


In the figure, circle O intersects equilateral triangle ABC at D, E, F, G, H, and I.  If AG = 3, FG = 12, FC = 2, and HI = 5, what is the length of EC ?��(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


What is the surface area of a sphere whose volume is 7776p?��(A)  � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


��������


What is the measure of angle A, in degrees, given that AC=CD=DB and angle B measures 23º?��(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ����(C)  46º	(D)  67º	(E)  NOTA


How many 2 foot by 6 foot tiles would it take to exactly tile the floor of a 63 foot by 72 foot room?��(A)  372	(B)  378	(C)  384	(D)  390	(E)  NOTA


If the surface area of a sphere is quadrupled, what is the ratio of the new volume to the old?��(A)  4	(B)  8	(C)  16	(D)  64	(E)  NOTA


A right triangle has sides of lengths 15 and 8.  What is the length of the hypotenuse?��(A)  17	(B)  18	(C)  19	(D)  20	(E)  NOTA


A rectangular swimming pool is 40 meters by 65 meters, and is surrounded by a rectangular sidewalk which is 3 meters wide.  What is the total area of the sidewalk in square meters?��(A)  642	(B)  666	(C)  697	(D)  702	(E)  NOTA


A pioneer is headed home from town, but must stop at the river along the way to get water.  If the river runs east-west 41 km north of the town, and the pioneer’s home is 252 km west and 23 km south of the town, what is the shortest distance, in kilometers, the pioneer can travel?��(A)  357	(B) 294 	(C)  316	(D)  273	(E)  NOTA


What is the volume of a square pyramid of height 36 and base side length 8?��(A)  281	(B)  256	(C)  768	(D)  843	(E)  NOTA


What is the surface area of a right rectangular pyramid of height 15, base width 16, and base length 72?��(A)  1848	(B)  2488	(C)  3000	(D)  3252	(E)  NOTA


�
Given that BC is parallel to DE, what is x?��(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


��������������


Given a circle, what is the ratio of the area of its circumscribed regular hexagon to the area of its inscribed regular hexagon?��(A) � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA
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What is the value of x in the figure with the circle shown below?��(A)  � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


���������������


What is the length of EF, given that AB, EF, and CD are all perpendicular to AD?��(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  8	(D)  9	(E)  NOTA


What is the area of the triangle with vertices at the points (8,24), (3,9), and (9, 18)?��(A)  20	(B)  22.5	(C)  24.5	(D)  27.5	(E)  NOTA


In triangle ABC, AB=8, BC=5, and AC=9.  Line segments DE and FG are drawn parallel to side AC, with D and F on AB and E and G on BC, with DE closer to AC such that the triangle is divided into three equal areas.  What is DE?��(A)  � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA
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What is the value of x in circle O with diameter � EMBED Equation.2  ���?��(A) � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


What is the ratio of the volume of a cone of height 30 and radius 8 to the volume of a sphere of radius 12?��(A) � EMBED Equation.2  ���	 (B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


What is the length of a 48 degree arc in a circle of diameter 4p?��(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


Two circles have radii of 21 and 16, and the length of their common external tangent is 45.  How far apart are the centers of the circles?��(A) � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


A triangle has a perimeter of 118, and its inscribed circle has an area of 90p.  What is the area of the triangle?��(A)  � EMBED Equation.2  ���	(B)  550	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


An n-gon has interior angles of 162º.  What is the value of n?��(A)  12	(B)  15	(C)  18	(D)  20	(E)  NOTA


What is the radius of the following circle?  � EMBED Equation.2  �����(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


�
What is the length of x in the triangle below?��(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA
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What is the length of the common internal tangent of two circles of radii 6 and 8 whose centers are 35 units apart?��(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D)  32	(E)  NOTA


What is the length of the bisector of angle C of triangle ABC with a=4, b=8, and c=8? ��(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA
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What is x in the triangle shown if AD is the altitude to the hypotenuse of right triangle ABC?��(A) � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA
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